wi g are descending motor tracts, EXCEPT:



:l'he adult spinal cord:

O Contains a central canal till level of T12

- () Is composed entirely of grey matter

- () Is covered only by dura

_ () Extends to the sacrum

- @ Has a spinal ganglion in each dorsal nerve root

Ir![l '|



l Ilrwhold male college student com) :
endogenous m"“m?m nit R ddiiMiculty falling asisep at nightd X Lt 1] anything “mild” he can take to h

C) Diaznpam
- () Phonababital
@ Hamelteon




gynis

R

is located medial to the obrital







:ﬁﬂc‘i'l structure is encircled by the circle of Willis?
- (O Medulla
() Aqueduct of the midbrain
() Cavemnous sinus
. () Pineal gland
‘ @ Piluitary stalk






| duning the initial weeks of gestation causes:

abnnnnaitﬁes caused by folate deficiency



ollowing 15 an example of mechanoreceptor?



%o} wut nucleus,







me agalachiae is charactenized by the following correct features. EXCEPT:
- Encapsulated
~ (O Common cause of meningitis in the first fow days of life
t‘_} Does not produce bela-lactamases
() Beta-hemolytic
@ Bagcilracin sensitive {pnsit'w%est]












vin ‘GEFpm!iIE (resull) indicates meningitis caused b
wit Appearance: B Intracranial pressure: |ncre

L

y ane of the following types of organisms, which one hﬂ? '_
ased, WBC: Mixed increased, Protein: Increased. Glucose A






' ning general anesthetics, ONE of the followings is CORRECT:

ravenous anesthetics are often used for maintenance of general anesthesia

opental has been shown to increase the incidence of laryngospasm.

oxide produces effective muscle relaxation

,a-thane is the least hepatotoxic of the inhalation anesthetics

larity of respiration and blood pressure is characteristic of stage 3 of general anesthesia




& of 10
You
are initializing treatment of a man suffering from a focal-onset seizure with 300 mg/day phemytoin. A blood sample cof

a dosage slevation. If his daily drug dosage were doubled, whi

B e ® at would be the most likely change in his drug plasma level®
) Kor than doutied
- Dioulsbo s prannous pilaysmia bl
y Logs ihan b sabiae]






Brown-Sequard syndrome is characterized by all the following, EXCEPT:

) LMNL same segment on the Ipsilateral side of the

lesion
) Loss of reflex movements on the same side al the

level of the lesion
. @ Loss of vibration sense on the opposite side below level

) Loss of voluntary movements on the same side below th
L) Loss of pain sensation on the opposite side

of the lesion

e level of the lesion
below the level of the lesion



Which of the following neurohormonal system is paired with the correct transmitter?

- © Substantia nigra — serotonin
O Locus ceruleus — dopamine
@) Raphe nuclei — norepinephrine

@ Gigantocellular neurons of the reticular formation — acstylcholine



f:- Archicerebellum controls?

@® Body Balance
) Muscle tone
() Posture

(0 Coordination of voluntary movements
() All of the above



idate and putamen

©) Emboliform and Fastigial
~2548
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A SB.year old pPost-menopausal woman wha (s suffering from major de
discussion, you decide that she should start a trial with l

Pression. Her medical history indicates that

after tapering her dose of fluoxetine. What drug will yeu pl::ﬂh? g
3 Sedraline :
1 Amitnptyline
® Duloxotine
) Paroxetine

. (C; Escitalopram



o suppiredby the anterior inferior cerebellar artery
_’Cmtalnsthe abducent nuclei

Lies b tween pons and upper spinal cord

O Islargely in the middle cranial fossa

ns the oculomotor nuclei









n the post-synaphic neurons onginato from the:







ution o *slgnals to the thalamus and parts of the limbic system



ONE of the followings drug/therapeutic indication pairs is CORRECT
() Disulfuram- Alcoholic Korsakoff syndrome
() Anpiprazole- Antiemetic
() Carbamazepine-Absence seizures
@ Dantrolene- Neuroleptic malignant syndrome
() Chlorpromazine - Hyperprolactinemia



lic 1 one of the following neural tube defects has thel TN pr survival for an individual after birth?
’@ Meningomyolocolo
() Meningoencophalocolo
-f‘c,l Pastenor chischisis
"b Anancephaly
m Lm'r lumbar spina bifida oceulta



i® 'ﬁdtﬂtnry' dopamine

output of Purkinje cells is always ... and it is mediated by the neurolransmitter ...



ARV

encephalon includes all the following EXCEPT:

O Medulla
Pons

O 4th ventricle
Cerebellum




nthesized by the ribosomes of neurons.
the above are correct



g Broca's area’

g *@ its destruction causes dyslexia.

_J@ its main function is the visual interpretation of language.
@ itis also known as premotor speech area

E;O it is found in the parieto-occipitotemporal association area



rd to opioid analgesics, ONE of the followings is CORRECT
2 is @ less potent antitussive and produces less euphoria than morphine
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vage below, which of the following is correclly paired?




age includes mainly all of the following except




n the post-synaptic neurons originate from the:




A
Al fin)



With regards to the spinal cord blood supply, which of the following is considered T@
() The posterior spinal artery arises from the posterior superior cerebellar

() The antenior spinal artery retains a uniform size throughout its length
() There are two anterior spinal arteries

(® The antenor spinal artery arises form the vertebral artery
() The posterior spinal artery is singular




Im generation and second generation antipsychotics differ in terms of their common side effects. Which of the fa
) Extrapyramddal symploms

0 Tardve dyskinesa

® Agranulocyloss

) Endocrine side affects
£ Hypestprolactemia




Synapses perform selective actions by:
() channeling signals in many directions rather than in only one direction.
() blocking weak signals while allowing strong signals to pass.
() selecting and amplifying certain weak signals.
@ All of the above are correct.






........

the above are correct
e above are correct






ming general anesthetics, ONE of the followings is CORRECT:

ravenous anesthetics are often used for maintenance of general anesthesia

pental has been shown to increase the incidence of laryngospasm.

rous oxide produces effective muscle relaxation

; ane is the least hepatotoxic of the inhalation anesthetics

D wlanty of respiration and blood pressure is characteristic of stage 3 of general anesthesia




‘The most prominent feature of Huntington's disease is:

() Tremor at rest

() Akinesia

() Rigidity

() Wild fiail-like movement of one limb

@ Involuntary jerky movement and dementia



Heschl's convolutions contain the

) Broca's area

L) Somatosensory association area
) Gustatory (taste) area

® Primary auditory area

. Primary visual area



@ Fatty acid ang Sphingosine
O Choline and Phosphoric acid
O Glycero| and phosphoric acid
Q Fatty acid and alycerol

O All of the above



of the following statements

IS correct regarding cerebral blood flow?

Itnormally depends on the value of mean artenial pressure.
) The effect of sympathetic activation on cerebral blood flow usuall

‘ ial cells play a role in the regulation of cerebral blood flow 5
/ . W PH increases cerebral blood flow.

y exceeds that of amufagulalnnf



